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Useful Interface
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// AjaxUtils.ts

export async function fetchBasic(param: {url: string}): P
const response = await fetch(param.url);
return response.json();

}
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export async function fetchData(param: {baseUrl: string, °

}

const {baseUrl, type, subject} = param;
const response = await fetch( ${baseUrl}/${subject} );
const contentType = response.headers.get('"content-type"

if (response.ok && contentType && contentType.includes(;
return response.json();
s

throw Error("Invalid baseUrl or subject");
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export async function fetchData(param: {
baseUrl: string,
type: string,
subject?: string
}): Promise<{
id: number;
name: string;
company: string;
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private async ajax(): Promise<{id: number; name: string;

const data: {id: number; name: string; company: string;
baseUrl: "http://localhost:3000",
subject: "users",
type: "application/json"

F);

// «..do something

return data;

}
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// 1nterfaces.ts
interface Character {
id: number;
name: string;
company: string;

}

export interface dataFormat {
charaters: Character|[];

}

export interface fetchDataParam {
baseUrl: string;
type: string;
subject: string;

}
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// AjaxUtils.ts

import { fetchDataParam, dataFormat } from "./interfaces"

export async function fetchData(param: fetchDataParam): P
// e

}
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// Controller.ts
import { fetchDataParam, dataFormat } from "./interfaces"

private async ajaxCall(): Promise<dataFormat> {
const param: fetchDataParam = {
baseUrl: "http://localhost:3000",
subject: "users",
type: "application/json"
const data: dataFormat = await fetchData(param);
console. log(data);
return data;
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Available properties
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Readonly properties

export interface WeatherSpec {
readonly type: string;
amount: number;

s

const rainfall: WeatherSpec = {
type: "rainfall”,
amount: 24,

s

rainfall.type = "snow"; // Error!

rainfall.amout += 3; // OK!

o2 HA|X[= Chs2t Z&LICE ['] Error: Cannot assign to
‘type' because it is a constant or a read-only property.
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Function Type
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interface TimeFunc {

(hour: number, minutes: number): any;
I3

const buildTimeStamp: TimeFunc = (hour, minutes): number :
if (minutes < 10) {

return Number( ${hour}0${minutes});
¥

return Number( ${hour}${minutes} );
¥

const buildTimeText: TimeFunc = (hour, minutes): string =
if (minutes < 10) {

return " ${hour}A| 0${minutes}=";
}

return " ${hour}A| ${minutes}t=";

}

buildTimeStamp (12, 33); //1233
buildTimeText(12, 33); //12A/ 332
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const buildTime = (timeText: string, cb: TimeFunc) => {
const hour: number = Number(timeText.split(":")I[0]);
const minutes: number = Number(timeText.split(":")[1]);

return cb(hour, minutes);

}
console.log(buildTime("12:33", buildTimeStamp)); //1233
console. log(buildTime("12:33", buildTimeText)); //12A/ 33:
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Indexable Types
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const obj = {
first: 1,
second: 2,
Fi
Object.keys(obj).forEach(key => console.log(obj[keyl));
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[!'] Element implicitly has an 'any' type because type '{

first: number; second: number; }' has no index
signature. O|Zt 02| EHA[ZILIC} 2fLsHH Ho|st ob] 2t= ZH[of|
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interface Indexable {

[key: string]: any;

i

const obj: Indexable = {
first: 1,
second: 2,

b

Object.keys(obj).forEach( (key:

string) => objlkeyl);
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Class interface
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interface Movable {
velocity: number;
move(time: number): Position;
startPos?: Position;

}

class BMWCar implements Movable {

}

017 [7HX| M E ] LIEHL}= of|2] HiM|X[= Ch=22t Z&LICE [1] Class
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class BMWCar implements Movable {
velocity: number;
constructor(velocity) {
this.velocity = velocity;
¥

move(time: number): Position {
//.««. do something

¥
}

const bmw: Movable = new BMWCar();
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Public Property

TypeScript Official Document®l| Interfaces describe the public
side of the class, rather than both the public and private
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https://github.com/JaeYeopHan/typescript_tutorial_docs
https://github.com/JaeYeopHan/typescript_playground
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